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Question No : 1 
 

An attempt to enable vSphere Fault Tolerance for a powered-on virtual machine fails. 

Which two scenarios would result in this failure? (Choose two.) 

A. The virtual machine has three vCPUs configured. 

B. The host on which the virtual machine is running has insufficient memory resources. 

C. The virtual machine has insufficient resources to accommodate full reservation plus the overhead memory. 

D. VMware High Availability is enabled on the cluster of which this host is a member. 
 
Answer: B,C 

 

Question No : 2 
 

Which three VLAN Tagging modes are available in vSphere 6.x? (Choose three.) 

A. External Switch Tagging 

B. Private VLAN Tagging 

C. Virtual Switch Tagging 

D. VXLAN Tagging 

E. Virtual Guest Tagging 
 
Answer: A,C,E 
 
Question No : 3 

 

Which three steps must be taken to use vSphere Update Manager 6.x to upgrade an ESXi 

5.5 host to vSphere 6.x? (Choose three.) 

A. Download an ESXi Image. 

B. Configure the vSphere Update Manager Download Service. 

C. Create a baseline and attach it to the ESXi Host. 

D. Scan the vCenter Content Library for the ESXi Image. 

E. Remediate the ESXi Host. 
 
Answer: A,C,E 

 

Question No : 4 
 

An administrator is deploying multiple Windows 2003 Virtual Machines from the same template. 

What two steps should be taken to avoid network conflicts? (Choose two.) 

A. Customize the guest operating system. 

B. Install VMware Tools into the new virtual machines. 

C. Copy the Microsoft Sysprep tools onto the vCenter Server system. 

D. Ensure the e1000 vmnic is selected for each new virtual machine. 
 
Answer: A,C 

 

QUESTION 5 

 

A vApp template recently added to a Content Library is not displayed. Which two actions could correct this problem? 

(Choose two.) 

A. Manually synchronize the library 

B. Select the Download all library content immediately option 

C. Select the Sync subscribed library option 

D. Manually download the vApp template 

 

Correct Answer: AB 

 

If the vApp template is not displayed in the content library, select the download all library content immediately option and manually 
synchronize the library. 

Reference: https://pubs.vmware.com/vsphere-60/index.jsp?topic=%2Fcom.vmware.vsphere.vm_admin.doc%2FGUIDF7BF0E6B-
7C4F-4E46-8BBF-76229AEA7220.html 

 

QUESTION 6 
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Which three are requirements when using vMotion to move a virtual machine across vCenter Server systems? (Choose three.) 

A. Both vCenter Servers must be using Enhanced Linked Mode. 

B. Both vCenter Servers must be in the same Single Sign-On Domain. 

C. Time must be synchronized. 

D. Duplicate VM MAC addresses must be configured. 

E. Both vCenter Servers must have High Availability enabled on source and destination clusters. 

 

Correct Answer: ABC 

 

Both of the vcenter servers must be using enhanced linked mode along with the same single sign-on domain. And the time must be 
synchronized. Reference: 

https://kb.vmware.com/selfservice/microsites/search.do?language=en_USandcmd=displayKCandexternalId=2106952 

 

QUESTION 7 

 

A vApp is running out of compute resources when overall activity is high within the resource pool. At other times, everything is fine. 
What should be done to resolve this issue? 

A. Increase the size of the resource pool Shares. 
B. Set the vApp\\'s CPU and Memory Reservation Type to Expandable. 

C. Set the vApp\\'s CPU and Memory Limit to Unlimited. 

D. Create a new resource pool with the existing hardware configuration. 

 

Correct Answer: B 

 

For the problem, set the vApp CPU and memory reservation type to expandable. 

Reference: https://pubs.vmware.com/vsphere-50/index.jsp?topic=%2Fcom.vmware.vsphere.vm_admin.doc_50%2FGUI 

D-9902FD4C-4727-43F7-AEAF-901DA4CB4D60.html 
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